il
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b
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SHEERNRE SHSEE =t (B X) 1K (-10m) BRI E (F2R)

4 [ IR - WAKTiE By B = B {f oo ) =
EEIZE 181, 965, 835
i (-10m) 181, 965, 835
BET 85,222, 320
TS5 T%ET 85,222, 320
TS5 7R%E 85,222, 320
-1 55 7%% (1) HEELHNEIORE 15mEKE 27.960. 00 2,002 55,975, 920
m3
1-2 55 T#% (2) HEELHNEIORE 15mEKE 12,186. 00 2, 400 29, 246, 400
m3
T#T 96, 719, 063
PR ERmT 3,996, 963
PR SR M 3,937, 399
1-3 B &R $560mm @ 610mm L=6.0m 1.00 1,056, 456 1,056, 456
=
1-4 FELZRERE - BHE (1) H=0m#k 388. 00 1,893 734,484
m
1-b ELZRERE - BE (2 H=2m#k 12.00 1,773 93,276
m
1-6 HERPERE - E (D ¢ 560mm ¢ 610mm 393.00 3,024 1,188, 432
m
1-7 BEERE - BE (D & 560mm 7.00 78,793 551, 551
m
1-8 JO0—4EHRE - B ®1,200 L=4.5m 36. 00 8, 700 313,200
m
B ERE 59, 564




SHEERNRE SNSEE =t (NEIL#X) & (-10m) BEITE (B2R)
£ b R - AR B 2 i & # i
1-9 B iREE 1,524 x 3,048 x 22 74.00 209 15, 466
m2
1-10 kiR EH 1,524 x 3,048 x 22 16. 00 1,845 29,520
®
1-11 BEkiREE 1,524 x 3,048 x 22 74.00 197 14,578
m2
TEMERT 30, 982, 230
TEMERE 30, 982, 230
1-12 EMER (1) \ X EM M1, 300m3FE [Z=EA=] 27.960. 00 657 18, 369, 720
m3
1-13 L EMERR (2) | TEM 81, 300m3%E [RARA=] 12, 186. 00 1,035 12,612,510
m3
BrteT 61,739, 870
EREZELT 61,739, 870
1-14 ZRERSL ZEREEM SED 3, 000PSE! 27, 960. 00 2,167 60, 589, 320
m3
1-15 ZEREEMAEE TSEEM #HD 3, 000PSE! 1.00 1,150, 550 1,150, 550
=
RE&T 24, 452
W 24, 452
JTVAEE - EIR 24,452
1-16 7= Y RAEE 2.00 3, 696 7,392
m
1-17 2z v R#EIR 2.00 8,530 17,060
m

HERRE (GEL)

101,767, 785




SHEERNRE SHSEE =t (B X) 1K (-10m) BRI E (F2R)

£ b R - AR Bify #H = B @ & # =
Hid R E% 101, 767, 785
HiBREEE 101, 767, 785
Effi - 2 WRE 96, 154, 452
[l 90, 359, 432
1-18 EffE (1) EHRE~ZE (B J3J8ER (& 1.00 16, 706, 182 16, 706, 182
#%)  $AD23m3 -
1-19 EffE (2) EHRE~ZE (B T3 78ER (FEH 1.00 16, 706, 182 16, 706, 182
#%)  $AD23m3 -
1-20 EIfnE (3) EWE~=E (FR)  EmXLER (BHAX) 3.00 5,547, 306 16, 641,918
1, 300m 3% -
1-21 EfE (4) EWME~=E (KR  EmLER (B 3.00 5,547, 306 16, 641,918
1, 300m 3% -
1-22 EfnE (5) MEE~=tE (ER)  EmXIER B 2.00 5,915, 808 11,831,616
1, 300m 3% -
1-23 ElfinE (6) MEE~=itE (ER) EmXIER B 2.00 5,915, 808 11,831,616
1, 300m 3%
=
Z UM 5, 795, 020
1-24 ZMi&E (1) 1?513‘25%~Ei1h;'% (#FE&) ZERIEEM  £ED3, 000PS 1.00 2,897,510 2,897,510
il
= I
1-25 ZULMi&E (2) 1?513‘25%~Ei1h;'% (fBE%) ZEXIEEM  £ED3, 000PS 1.00 2,897,510 2,897,510
Eil
=
ERE 1,468, 539
{REEMEE 1,468, 539
1-26 HERVEEMR (1) BEFLE ¢ 560mm  L=6. Om%E (X7E) XEW~K%E 1.00 643, 025 643, 025
sl %
1-27 HREER (2) ﬁ;i’i"’é‘tbﬁmmm L=6.0m (¥78) =EEH~KEH 1.00 699, 504 699, 504
%




SHBERNRE SHSEE =t (B X) 1K (-10m) BRI E (F2R)

4 [} R - KT iE B #H =2 B * H =

1-28 Bk OB W 1,524x 3,048 %22 (1F18) 1.00 126,010 126,010

=
e E 3,941,834
TEXER 3,941,834
1-29 RE£ERM FRP D180PSE! Zk3E10H 1.00 3,885,675 3,885,675

=
1-30 RRER 1.00 56, 159 56, 159

=
"’HBE 102, 960
RinF 102, 960
1-31 1R EREEM  HHD3, 000PSEY 1.00 102, 960 102, 960

%
BitEEE 100, 000
HifrgE 100, 000
1-32 EiTEEE HAREIMAE 1.00 100, 000 100, 000

=
EHiZHEE 3,734,787
BIEEHE 3,734,787
TILF E—LAIRE 3,734,787
TILFE—LAIE 3, 640, 787
BI=%ME 361,426
2-1 BlE=%0m ETAE. BTAE 1.00 169, 074 169, 074

=




SHBERNRE SHSEE =t (B X) 1K (-10m) BRI E (F2R)

£ g R - KT BfI 8 2 B M ki £ wmE

2-2 HEMER (1) EIRE 248 1.00 96, 176 96,176

=
2-3 HEAERE (2) BITHE 2% 1.00 96, 176 96,176

=
KiRA= 1,291, 568
2-4 BBETRE (1) ELA=E 1.00 624, 204 624, 204

=
2-5 BETRbE (2) BRIAE 1.00 624, 204 624, 204

=
2-6 TILFE—LBIE (1) ELA=E 0.03 755, 301 22, 659

km2
2-7T R ILFE—LBIE (2) BIAE 0.03 683, 367 20, 501
km2

[5Z] 1,987,793
2-8 ART—H2EE (1) ETRE 1.00 573, 206 573, 206

=
2-9 ART—HEE (2) BITHE 1.00 1,414,587 1,414,587

=
EERE 94,000
[5Z] 94, 000
2-10 ¥#EBERR 1.00 94, 000 94, 000

=
EER{E 256, 006
BEXHE 256, 006
TILFE—LBIE 256, 006
EEAGE 248, 550




SHEERNRE SHSEE =t (B X) 1K (-10m) BRI E (F2R)

% L] R - RARSTiE BfL % 8 B ® # m o=
S 248, 550
3-1 3RFTERE T — 2 1ERL 1.00 248, 550 248, 550
BEERE 7,456
S 7, 456
3-2 EBHAME 1.00 7, 456 7,456
=




SHEERIER THSEE =t E (NEILHBX) FER (-10m) BETE (F2R)

£ b B - KT B % =2 L] ® & W=
EEIEE 181,965, 835
BEIER 116,488,820 + 56, 228, 857 172,717,677
HBERERE GH 101,767,785 + 14,175,138 + 545 897 116, 488, 820
HBREE (HLE) 101,767, 785
HBEREE (X ) 181,965,835 x 7.79% ((4.80% x1.28 +1.50%) x 1.02) 14,175,138
BSRENER 181,965,835 x 0.30% 545, 897
RiSEER 298, 454,655 x 18.84% ((16.87% +1.42%) x 1.03) 56, 228, 857
TR 181,965,835 + 172,717,677 354, 683,512
—REBEES 354,683,512 x 14.36% (14.36% x 1.00) — 7,937 50, 924, 615
LERIE 354,683,512 x 0.04% 141,873
T H{fits 354,683,512 + 50,924,615 + 141,873 405, 750, 000
EEAEE 3,734,787
B 3,734,787 x 73.5% — 9,855 2,735,213
REBEE 3,734,787 + 2,735,213 6, 470, 000
BB E TS 6, 470, 000
E R 248,550 + 7,456 256, 006
EEAGE 248, 550




SHEERIER THSEE =t E (NEILHBX) FER (-10m) BETE (F2R)

£ b B - BT B % =2 B @ ® & W=
EERE 7, 456
T DAt R f 248,550 x 53.85% (35% = (1 — 35%) ) 133,844
e i 256,006 + 133, 844 389, 850
—REEES 389,850 x 53.85% (35% <+ (1 — 35%) ) — 9 784 200, 150
ES {id 389,850 + 200, 150 590, 000
BEHEE 405,750,000 + 6,470,000 + 590, 000 412, 810, 000
HERERLE 412,810,000 x 10.00% 41,281,000
EATISE 454, 091, 000




Rifiz -/ \v7r—o

SHSEE =B (NEILX) M (-10m) BB ITE (FE2R)

&5 :1-1
WM JSTRE (1) HEELMWNEIORE 15mkiE 1BH&Y (2511m 3)
£ 5 L - BIRTiE BAf % = B %5 = & &
55 JigEm (ERmER) (R/3y FX) $HD 23. Om3
B 1.00 4,582, 264.00 4,582, 264|/5.00H / 10H
S (U3 TigEMm(R/Sy FR)) $HD 2000PSE!
B 1.00 420, 138. 00 420, 138/2.00H / 8H
HEMH EZZX0I)
% 0.50 5,002, 402. 00 25,012
& B 1E%HESH : 2,511.00m 3 2,002.00 5,027,414
&5 :1-2
W JSTRE () HEBELMNEIORE 15mkiE 1B&Y (2009m 3)
£ 5 L - IRTiE BAf % = B %5 = & &
55 JigEm (ERER) (R/3y FX) $HD 23. Om3
B 1.00 4,378, 542.00 4,378,542|4.00H / 10H
S (U3 TgEMm(R/Sy FR)) $HD 2000PSE!
B 1.00 420, 138. 00 420, 138/2.00H / 8H
HEMH 2EDY
% 0.50 4,798, 680. 00 23,993
& B 1E%HEH : 2,009.00m 3 2, 400. 00 4,822,673
&5 :1-3
B BERVEERE  H560mm  $610mm  L=6.0m 1Yy
£ 5 L - BIRTiE BAf % = B %5 = i
7 0—4% [§i#] £4.5m #&1,100mm  HERLE E560mm
X-H 146. 40 1, 740. 00 254, 736
Taqr rTdLE] £1,300mm 2560mm
&-8 170. 80 785. 00 134,078
Berb & (SR &) £6.0m  #Z560mm
X-H 610. 00 339. 00 206, 790
Berb & (SR &) £6.0m #%610mm
X-H 1,171.20 389. 00 455, 596
HEMH 2EDY
% 0.50 1,051, 200. 00 5, 256
& B 1E%HeH - 1.00K 1, 056, 456. 00 1,056, 456




Rifiz -/ \v7r—o

SSEE =t (MEILHR) AR (-10m) RIETE (F2R)

&5 :1-4
£ ELEZHRERE - BE (1) H=-0mik 30m% Y
2 b g - BIRTE By = BHO(f %8 W = " =
ERAK &O15cmx 1. 8m
m3 0. 40 9,625. 00 3, 850
FSvo 8tig
B 0. 40 37,978. 00 15,191 4. 70H / 8H
BhH<T
A 0.10 25,520. 00 2,552
LTEEXE
A 1.60 21, 840. 00 34,944
MR 2E0%
% 0.50 56, 537. 00 282
& B 1YEZHES - 30.00m 1,893.00 56, 819
&5 :1-5
£ ELZRERE - BE 2) H2mik 30m% Y
2 b g - BIRTE By = BHO(f %8 W E " =
ERAK &O15cmx 1. 8m
m3 0. 40 9,625. 00 3, 850
mMAK
m3 1.40 14,112.00 19, 756
ERA
m3 0. 40 14,112.00 5, 644
BHHIK <O10cmx 7. Om
m3 0.90 23, 730. 00 21,357
STFL—29L—r A AR ER) GhE i I8 25t R
B 0. 60 56, 200. 00 33, 720 8H
FSvo 8tig
B 0. 40 37,978. 00 15,191 4. 70H / 8H
BhH<T
A 0. 40 25,520. 00 10, 208
LEEXS
A 5. 60 21, 840. 00 122, 304
MR 2E0%
% 0.50 232, 030. 00 1,160
& B 1EZHES - 30.00m 7,773.00 233,190




Rifiz -/ \v7r—o

SHSEE =B (NEILX) M (-10m) BB ITE (FE2R)

&5 :1-6
£ BERERE - BE (1) $560mm ¢ 610mm 60mZ L)
2 b g - BIRTE By = B ) # " =
ST7TL—r9L—2r HEHEARRER) GhE i I8 25t R
B 1.00 56, 200. 00 56, 200 8H
(AR 8tig
B 0. 40 37,978. 00 15,191 4. 70H / 8H
LEEXS
A 5.00 21, 840. 00 109, 200
MR 2E0%
% 0.50 180, 591. 00 902
& B 1YEZHES : 60.00m 3,024.00 181, 493
&5 :1-1
£ BERERE - BE (2) ¢$560mm Tm%y
2 b g - BIRTE By = B ) # " =
HEEE
A 2.00 27,410. 00 54, 820
HIRIEXS
A 4.00 24, 680. 00 98, 720
LEEXS
A 6.00 21, 840. 00 131, 040
Ny iR [ L—BEERt] IUFE0.45m3 2.9t/ HEHARAXEKE (5
1R) B 2.00 43, 148. 00 86, 296
IN Ny R I1%50. 286m3 HEHA AXEE (FE2R)
B 2.00 38, 705. 00 71, 410
RN BHE£60~80kg
B 2.00 1, 595. 00 3,190
’EO—> [(8F - av/\1 2 FK] 3~4t HEHARHER (F1R)
B 2.00 32, 290. 00 64, 580
LT (AR - X2 U2z P0]  25m3/min BEHARKER (F1R)
B 2.00 4,616.00 9,232
MR 2E0%
% 5.00 525, 288. 00 26, 264
& B 1EZHESN - 7.00m 78, 793. 00 551, 552




Rifiz -/ \v7r—o

SSEE =t (MEILHR) AR (-10m) RIETE (F2R)

&5 . 1-8
£ JO—2EHRE - BE 61,200 L=4.5m 60mz Y
% b 3R - ks B #H 2 B £ & & & &
2Ty #HD 20tH
B 0.60 720, 082. 00 432,049 8H
TEFEE
A 4.00 21, 840. 00 87, 360
HEMH =X NOY)
% 0.50 519, 409. 00 2,597
& B YEZERESD : 60.00m 8, 700. 00 522,006
&5 .19
2 BRI\ 1,524 x 3,048 %22 100m 24y
% b 3R - ks B #H 2 B £ & & & &
HER%
A 0.152 27,410. 00 4,166
LU
A 0.152 26, 460. 00 4,021
TEFEE
A 0.152 21, 840. 00 3,319
N il (hR-58Y) 5B
B 0.152 60, 890. 00 9, 255
EME (E+FEHH)
% 1.000 20, 761. 00 199
& Hi YEZERES : 100.00m 2 209. 00 20, 960
&5 . 1-10
2 BEkiRER 1,524 x3,048%x22 1k ED)
% b 3R - TRk B3 # 2 B £ & & & &
SR ER
®-H 25. 000 43. 00 1,075
BiHE (EEmR) 22x1524x3048mm
® 1.000 770.00 770
HHE (F50)
= 1.000 1, 845. 00 0
& Hi 1EZHED 1. 008 1, 845. 00 1,845




Rifiz -/ \v7r—o

SHSEE =B (NEILX) M (-10m) BB ITE (FE2R)

&5 1-11
B EEkARIE 1,524%x3,048x22 100m2%HY
2 b g - BIRTE By = B O %8 W = " =
HEER
A 0.143 27,410. 00 3,919
U
A 0.143 26, 460. 00 3,783
LEEXS
A 0.143 21, 840. 00 3,123
Ny (Jr-58Y) iR
B 0.143 60, 890. 00 8, 707
EME (E+FEHH)
% 1.000 19, 532. 00 188
& Hi YEZERES : 100.00m 2 197.00 19, 720
&5 :1-12
L TEMER (1) WK EEM 81, 300m3FE [ZEAK] 1B%Y (2511m3)
2 b g - BIRTE By = B O %8 W E " =
TEMR () $M1300m37& (A=)
B 3.00 386, 100. 00 1,158, 300 10H
i £MD 2000PSZY
B 1.00 485, 032. 00 485,032/2.00H / 10H
MR EXENOY
% 0.50 1, 643, 332. 00 8,216
& B YEZERESN : 2,511.00m 3 657. 00 1,651, 548
&5 1-13
L TEMER (2) WK LEEM  SH1, 300m3FE [BARA] 1HB%Y (2009m 3)
2 b g - BIRTE By = B Ol %8 W = " =
TERR () $M1300m37& (BARA =)
B 2.00 475, 200. 00 950, 400 10H
i £MD 2000PS#Y
B 2.00 560, 168. 00 1,120,336 4.00H / 10H
MR EXENOY
% 0.50 2,070, 736. 00 10, 353
& B YEZERES - 2,009.00m 3 1,035. 00 2,081,089




Rifiz -/ \v7r—o

SHSEE =B (NEILX) M (-10m) BB ITE (FE2R)

&5 :1-14
& EREEEL ZEXREEM D 3, 000PSE! 1B%Y (2511m3)
2 b g - BIRTE By = B O %8 W = " =
LT £MD 3000PSZY
B 1.00 5,414,912.00 5,414,912/6.00H / 10H
MR 2E0%
% 0.50 5,414,912.00 217,074
& B YEZERESN : 2,511.00m 3 2,167.00 5, 441, 986
&S :1-15
£ EREEMMER ZREEM D 3, 000PSE 1LY
2 b g - BIRTE By = B O %8 W E " =
LT £MD 3000PSZY
B 0.50 2,301, 100. 00 1,150, 550 #tA
& B 1E%HeH - 1.00K 1, 150, 550. 00 1, 150, 550
&5 :1-16
W 7z U AEE 20m% Y
2 b g - BIRTE By = B O %8 W E " =
HEER
A 1.00 27,410. 00 217,410
LEEXS
A 2.00 21, 840. 00 43, 680
MR 2E0%
% 4.00 71, 090. 00 2,843
& B 1YEZHES - 20.00m 3, 696.00 73,933




Rifiz -/ \v7r—o

SSEE =t (MEILHR) AR (-10m) RIETE (F2R)

&5 . 1-17
&M 7z REIR 10m%»Y
2 b g - BIRTE By = B O ® # " =
HEER
A 1.00 27,410. 00 217,410
LEEXS
A 2.00 21, 840. 00 43, 680
MR 2E0%
% 20.00 71,090. 00 14,218
& B 1YEZHES : 10.00m 8,530.00 85, 308
&5 :1-18
&% @EME (1) EHESBS~=thE (FER) I35 I7RER (FEHhE) $HD23m3 HEED)
2 b g - BIRTE By = B O ® # " =
BEE
= 1.00 5,300, 000. 00 5, 300, 000
EX T
= 1.00 2,019, 630. 00 2,019, 630
B
= 1.00 9, 008, 500. 00 9, 008, 500
Elf R & F
= 1.00 347, 390. 00 347, 390
wE%E
= 1.00 30, 662. 00 30, 662
& B 1YEZHER - 1.00[E 16, 706, 182. 00 16, 706, 182




Rifiz -/ \v7r—o

SSEE =t (MEILHR) AR (-10m) RIETE (F2R)

&5 :1-19
&% OME (2) EHESB~=HhE (B JSI7RER (ZEHhE)  4HD23m3 HEED)
2 b g - BIRTE By = B O ® # " =
BEE
= 1.00 5,300, 000. 00 5, 300, 000
EX T
= 1.00 2,019, 630.00 2,019,630
B
= 1.00 9, 008, 500. 00 9, 008, 500
Elf R & F
= 1.00 347, 390. 00 347, 390
wE%E
= 1.00 30, 662. 00 30, 662
& B 1YEZHEH - 1.00[E 16, 706, 182. 00 16, 706, 182
&5 :1-20
2% EfE 3) BERE~ZHE (EFR AR TER EHAK) 1,300m3tE HEED)
2 b g - BIRTE By = B O ® # " =
BEE
= 1.00 289, 500. 00 289, 500
EX T
= 1.00 2,396, 838. 00 2,396, 838
B
= 1.00 2,843, 800. 00 2,843, 800
Elf R & F
= 1.00 17,168. 00 17,168
& Hi 1YEZHER - 1.00[E 5,547, 306. 00 5, 547, 306




Rifiz -/ \v7r—o

SSEE =t (MEILHR) AR (-10m) RIETE (F2R)

&5 :1-21
2% EfE 4) BRE~ZHE (ER AR LER EHAK) 1,300m3tE HEED)
2 b g - BIRTE By = B O ® # " =
BEE
= 1.00 289, 500. 00 289, 500
EX T
= 1.00 2,396, 838. 00 2,396, 838
B
= 1.00 2,843, 800. 00 2,843,800
Elf R & F
= 1.00 17,168. 00 17,168
& Hi 1YEZHEH - 1.00[E 5,547, 306. 00 5, 547, 306
&5 :1-22
£% : EfiE 5) MAE~ZHE (EFR A ER GIEAX) 1, 300m3%E HEED)
2 b g - BIRTE By = B O ® # " =
BEE
= 1.00 357, 000. 00 357, 000
EX T
= 1.00 2,396, 838. 00 2,396, 838
B
= 1.00 3, 140, 800. 00 3, 140, 800
Elf R & F
= 1.00 21,170. 00 21,170
& Hi 1YEZHER - 1.00[E 5,915, 808. 00 5,915, 808
&5 :1-23
&% EfE 6) MAE~=ZHE (ER Wt LER GIFAK) 1,300m3tE HEED)
2 b g - BIRTE By = B Ol ® # " =
BEE
= 1.00 357, 000. 00 357, 000
EX T
= 1.00 2,396, 838. 00 2,396, 838
B
= 1.00 3, 140, 800. 00 3, 140, 800
Elf R & F
= 1.00 21,170. 00 21,170
& Hi 1YEZHEH - 1.00[E 5,915, 808. 00 5,915, 808




Rifiz -/ \v7r—o

&S 1-24

&% AVHME (1)

SHSEE =B (NEILX) M (-10m) BB ITE (FE2R)

KEB~=hE (EK) ZKEEM  HED3I, 000PSE! HEED)
2 b g - BIRTE BT o = BHO(f ® W = " =
EX T
= 1.00 671,320. 00 671,320
B
= 1.00 2,226, 190. 00 2,226,190
& B 1YEZHEH - 1.00[E 2,897, 510.00 2,897,510
=5 :1-25
B ZVVRE (2) XREB~=ithE (ER) ZREEMm  #ED3, 000PSE! HEED)
2 b g - BIRTE BT H = BHO(f ® W E " =
EX T
= 1.00 671, 320. 00 671,320
B
= 1.00 2,226, 190. 00 2,226,190
& B 1YEZHER - 1.00[E 2,897, 510.00 2,897,510
&5 :1-26
L HREER (1) HE ¢560mm L=6.0mZF ({F1E) XEH~XEHAT 1LY
2 b g - BIRTE BT H = B O %8 W E " =
BEYBEHEER
= 1.00 535, 379. 00 535, 379
HEIL - #EAAHER
= 1.00 107, 646. 00 107, 646
& Hi 1E%HeRH - 1.00K 643, 025. 00 643, 025
&5 . 1-21
£ BEREER (2) BRES610mm L=6.0m (¥fE) FEEH~XEHT 1LY
2 b g - BIRTE By = B Ol %8 W = " =
BEYBEHEER
= 1.00 571, 344. 00 571, 344
HEIL - #EAAHER
= 1.00 128, 160. 00 128, 160
& Hi 1E%HeH - 1.00K 699, 504. 00 699, 504

10




Rifiz -/ \v7r—o

SSEE =t (MEILHR) AR (-10m) RIETE (F2R)

&5 :1-28
B BEKARER 1,524 x3,048%x22 (fE7E) 1syy
2 b g - BIRTE By = B O %8 W = & &
BEYBEHEER
= 1.00 87,514.00 87,514
HEIL - #EAAHER
= 1.00 38, 496. 00 38, 496
& Hi 1YE%HeH - 1.00K 126, 010. 00 126, 010
&5 :1-29
L REESEM FRP DISOPSE!  ZRZE10H 1%y
2 b g - BIRTE By = B O %8 W E & &
TEERM FRP D 180PS#Y
B 34.00 113, 716. 00 3,866, 344/8.00H / 10H
MR 2RD%
% 0.50 3, 866, 344. 00 19, 331
& B 1E%HeH - 1.00K 3,885, 675.00 3,885,675
= :1-30
2% RRESB 1LY
2 b g - BIRTE By = B O %8 W E ik &
RBFEZHFEB
A 4.00 13, 970. 00 55, 880
MR 2RD%
% 0.50 55, 880. 00 279
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2 b g - BIRTE B = B O %8 # " =
HIy> LF¥a15— RE2UK
L 7.00 157.00 1,099
BH (07) B E60~80kg
=] 1.00 496. 00 496 HRAERE
& &t 1,595




Bl

HifiRkES : 1-9

BEREM  RBO—5 [BE- 23 N/4 U FR] 3~4t HHARRERE FE1R)

SHSEE =B (NEILX) M (-10m) BB ITE (FE2R)
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